Al 2| Al =
i = 20251 =0ilAH | 2025 1X | BAZW | ZLS(%) ot = 20251 204 | 20254 1Xt | ZA2Y | Z2S(%)
o &t = (A) ZHO04 (B) | (C=B-A) | (C/A*100) 2 £ 2 (A) ZH0 4 (B) | (C=B-A) |(C/A*100)
g A 160,911,000 165,587,000 4,676,000 2.91 g A 160,911,000 165,587,000 4,676,000 2.91
AAXRES A 14,400,000 14,400,000 = 0.00 A28l A 127,371,380 130,102,490 2,731,110 2.14
AAHESY A 14,400,000 14,400,000 = 0.00] ol21H| A 114,923,380 118,622,490 3,699,110 3.22
PRI EA R 14,400,000 14,400,000 - 0.00 =0 77,464,000 80,054,800 2,590,800 3.34
Al = = = 0.00 UBEZ - - - 0.00
At =2 2H = = = 0.00 M= 19,229,920 19,873,680 643,760 3.35
D2 3AIE 4 - - - 0.00] EXNSLENTEZ 8,057,830 8,327,370 269,540 3.35
H = = - 0.00 MIEERYHIE 10,171,630 10,366,640 195,010 1.92
S =pel] 2 = = = 0.00] JIEFS M AH| - - - 0.00
HEE - - - 0.00 AR E=&H| 2H 140,000 140,000 = 0.00
B2x349 Al 124,365,380 128,187,490 3,822,110 3.07] J|22ddl - - - 0.00
B2x32=8 2H 124,365,380 128,187,490 3,822,110 8,07 3|9l 140,000 140,000 - 0.00
ANEBZ2 124,365,380 128,187,490 3,822,110 3.07] 224l 2 12,308,000 11,340,000 -968,000 —-7.86
ANzZREXZ - - - 0.00 []:]] - - - 0.00
et =3 - - - 0.00 *=EHl Y2 4,728,000 5,190,000 462,000 9.77
3 H - - - 0.00] 3332 5,000,000 5,000,000 - 0.00
3+ | = = = 0.00 HAS2=2 - - - 0.00
N2 - - - 0.00] paa=isll 2,580,000 1,150,000 | -1,430,000 -55.43
HIXEEAZ - - - 0.00] JIEt2 gl - - - 0.00
2 H - - - 0.00f| MHAFEAH| .l 5,120,000 5,520,000 400,000 7.81
paieli=; | = = - 0.00] Al&HI 2 5,120,000 5,520,000 400,000 7.81
golmel 2 - - - 0.00 A& 8| - - - 0.00
(== A 22,000,000 22,911,084 911,084 4.14 THAES SHI - - - 0.00
ola2 | 22,000,000 22,911,084 911,084 4.14 A& EHIK X 5,120,000 5,520,000 400,000 7.81
HEC0IES(XINEE) 21,000,000 22,536,834 1,536,834 7.32] At I A 27,274,000 29,501,834 2,227,834 8.17
HECOIE2(ZEAB) - - - 0.00] 23| 2 H 21,200,000 23,204,834 2,004,834 9.46
HEZ0IES(EXR) 1,000,000 374,250 -625,750 -62.58| A HI 13,000,000 15,254,834 2,254,834 17.34
ESEael] Al 145,620 88,426 |- 57,194 —39.28] 27|23l 3,600,000 3,600,000 - 0.00
Pl Nyl 145,620 88,426 |- 57,194 -39.28] =4l - - - 0.00
SEEZMH20U 60,000 50,000 |- 10,000 0.00] ozl 1,000,000 1,000,000 - 0.00
JIEHHI 20l K=& 85,620 30,426 |- 55,194 —64.46] AZH| 3,600,000 3,350,000 -250,000 -6.94
JIEtE ¢ - 8,000 8,000 0.00] At ENy| 6,074,000 6,297,000 223,000 3.67
WETHEASHI 50,000 50,000 - 0.00
Ot s At 3,762,000 3,685,000 =77,000 -2.05
KNAAS WAL HI 620,000 920,000 300,000 0.00




Al 2 Al 3
ot = 2025 =0ilAH | 2025 1Xt | ZA2H | ZSLE(%) ot = 2025 =0ilAF| 20258 1Xt | ZSUZW | ZAE(%)
o s = (A) =204 (B) | (C=B-A) | (C/A*100) 2 &t 5 (A) ZAUA (B) | (C=B-A) |(C/A*100)
gt Al 160,911,000 165,587,000 4,676,000 2.91 = Al 160,911,000 165,587,000 4,676,000 2.91
A& X2 AFS B - - 0.00
45 2 X2 ALS Bl 1,642,000 1,642,000 - 0.00
63 I XA ASHI - - - 0.00
SXE A 145,620 88,426 -57,194 -39.28
SXE A 145,620 88,426 -57,194 -39.28
FSONES 145,620 88,426 -57,194 -39.28
OflHIHI 2D e H 1,000,000 374,250 -625,750 -62.58
Gl Bl 61 Z DI EF 2 1,000,000 374,250 -625,750 -62.58
Bxr3ute 1,000,000 374,250 -625,750 -62.58




Ot.

Hg - HZE e (TO2)

2 2 Ml Al
g Al 165,587,000 165,587,000
gx32 128,581,740 A 128,581,740
g x 2 el 128,187,490 |AF 2 8] (oI A4 H]) 118,622,490
0] = = 374,250 (At 2 Hl (& 4 Hl) 3,020,000
&t %= 2] 20,000 | Al o Hl 220,000
AbSE H (2 9 Hl) 4,383,000
Ab S HI (AF S HI) 1,942,000
&f N = 20,000
g X Z vt & 374,250
L= A 37,005,260 A A 37,005,260
2 A H 2 &= ¢ 14,400,000 |AF S HI (@1 24 H]) 0
At A = el ogg 8 = & Hi 140,000
0] = 22,536,834 |AF 2 Hl (2 ¥ Hl) 8,320,000
&t = 2] 68,426 | Al o Hl 5,300,000
AFSE H (2 9 Hl) 18,821,834
AP Hl (AN HI) 4,355,000
& N = 68,426
ol | | 0
2ol 0 A A 0
Mol= |y 2 O[AF2HI (2 2AHHl) 0
0] = 0
=3 = 0 2~ A 0
= el O|AFS Hl (e 2 dl) 0
0l 2 Ol R Hl (29 Hl) 0
& el 0 |Al o gl 0
A H (2 Q) 0
A Hl (AN HI) 0
= % = 0




